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  Written Exercise 4:  
Translate the following Greek text into correct English (58 answers):

tw/' sabbavtw/ oJ Cristo;" ejdivdaske tw/' law/' to; eujaggevlion tou' qeou' th'/ sunagwghv/. kai; oiJ maqhtai; aujtou' h\san ejkei' kai; ajkoh/' h[kouon aujto;n o&ti oJ  jIhsou'" didaktiov" h\n kai; oiJ lovgoi qeodivdaktoi h\san kai; ajp j ajrch'" oiJ maqhtai; ajnevtrefon para; tou;" povda" tou'  jIhsou'. aujto;" metedivdou aujtoi'" th'n ajggelivan th'" ajgavph" kai; eijrhvnh" ajpo; tw'n profhtw'n. th'n didach;n aujtoi; parelavmbanon kai; eijshvkouon di j aujtou;" eujparevdrou" tw/' qew/' ei\nai. ajlla; to; presbutevrion suvnhcon ta; w|ta kai; hjkmukthvrizon aujtovn. 
Parse the following words according to the appropriate model (81 answers):
tw/' sabbavtw (7 answers): 2 - Loc (________) - N - S - savbbaton, tov- ________________
oJ Cristo;"(7 answers): Proper Name - Nom (________) - M - S - Cristov", oJ- __________
ejdivdaske(8 answers): Impf (________) - Act - Ind - 3 - S - didavskw- _______________________
tw/' law(7 answers): 2 - Dat (_________) - M - S - laov", oJ- ___________________
to; eujaggevlion(7 answers): 2 - ______ (Dir Obj) - N - S -  eujaggevlion, tov- _______________
tou' qeou'(7 answers): 2 - Gen (Poss) - M - S - qeov", oJ- ______________
th'/ sunagwghv(7 answers): 1 - Loc (_______) - F - S - sunagwghv, hJ - __________________
kai: Coordinate conjunction introducing an independent clause - _________ 
oiJ maqhtai;(7 answers): 1 - Nom (______) - M - P - maqhthv", oJ- ________________
aujtou'(10 answers): Pers Pron - Gen (________) - M - S - aujtov", -hv, -ov- _______
h\san(7 answers):  Impf (_______) - Ind - 3 - P - eijmiv- _______________
ejkei: Adverb of place - ___________ 
kai: Coodinate conjunction introducing an independent clause - _________ 
ajkoh/' h[kouon(8 answers): Impf (________) - Act - Ind - 3 - P - ajkouvw- __________________________
aujto;n(10 answers): Pers Pron - _____ (_________) - M - S - aujtov", -hv, -ov - _________  
o&ti(3 answers): Subordinate conjunction introducing a conjunctory _______ _________ clause - ________ 
oJ  jIhsou'"(7 answers): _______ ________ - Nom (Subj) - M - S -  jIhsou'", oJ- __________ 
didaktiov"(9 answers):  Adj (Pred) - Nom - M - S - didaktiov", -hv, -ovn - ______________________ 
h\n(7 answers): Impf (Desc) - Ind - 3 - S - eijmiv- ____________ 
kai: coordinate conjunction introducing independent clause - _______ 
oiJ lovgoi(7 answers): 2 - Nom (Subj) - M - P -  lovgo", oJ- ______________
qeodivdaktoi(8 answers): Adj (______) - Nom - M - P - qeodivdakto", -on - __________________ 
h\san(7 answers): Impf (Desc) - Ind - 3 - P - eijmiv- __________ 
kai: coordinate conjunction introducing independent clause - _______  
ajp j ajrch'"(7 answers): 1 - Abl (Sep) - F - S - _________, ___ - __________________ 
oiJ maqhtai(7 answers): 1 - Nom (Subj) - M - P - maqhthv", oJ - ____________ 
ajnevtrefon para; tou;" povda"(8 answers): ______ (Dur) - Act - Ind - 3 - P - ajnatrevfw - _______________ ________
tou'   jIhsou'(7 answers): Proper Name - Gen (Poss) - M - S -  jIhsou'", oJ - of _________ 

aujto;"(10 answers): Pers Pron - Nom (Subj) - M - S - aujtov", -hv, -ov  - __________
metedivdou(8 answers): Impf (Desc) - Act - Ind - 3 - ____ - metadivdwmi - ____________________ 
aujtoi'"(10 answers): Pers Pron - Dat(Indir Obj) - M - P - aujtov", -hv, -ov  - ____________
th'n ajggelivan(7 answers): 1 - Acc (Dir Obj) - F - S -  ajggeliva, hJ- ______________ 
th'" ajgavph"(7 answers): 1 - Gen (Desc) - F - S -  ajgavph, hJ- of ___________
kai: coordinate conjunction linking two nouns - _______ 
eijrhvnh"(7 answers): 1 - Gen (Desc) - F - S -  eijrhvnh, hJ- of ________ 
ajpo; tw'n profhtw'n(7 answers): 1 - _____ (Source) - M - P - profhvth", oJ - from ___________ 

th'n didach;n(7 answers): 1 - Acc (Dir Obj) - F - S -____________, ___ - this ____________  
aujtoi;(10 answers): Pers Pron - Nom (Subj) - M - P - aujtov", -hv, -ov  - they 
parelavmbanon(8 answers): Impf (Desc) - Act - Ind - 3 - P - paralambavnw - ___________________
kai: coordinate conjunction introducing independent clause - ________ 
eijshvkouon(8 answers): ______ (_______) - Act - Ind - 3 - P -_____________ - __________________
di j... ei\nai(7 answers): Pres (Desc) - Infin (___: ____________) - eijmi - because _________________  
aujtou;"(10 answers): Pers Pron - _____ (Ref) - M - ____ - aujtov", -hv, -ov - they 
eujparevdrou"(8 answers): Adj (______) - Acc - M - P -  eujpavredro", -on- _______________  
tw/' qew(7 answers): 2 - Dat (Ref) - M - S -  qeov", oJ -___________________ 
ajlla: coordinate conjunction introducing independent clause in strong contrastive relationship - _____
to; presbutevrion(7 answers): 2 - Nom (Subj) - N - S - presbutevrion, tov - ________________________ 
suvnhcon ta; w|ta(8 answers): Impf (_____) - Act - Ind - 3 - P - sunevcw- _________________________
kai: coordinate conjunction introducing independent clause - ________ 
hjkmukthvrizon(8 answers): ______ (Incep) - Act - Ind - 3 - P - ejkmukthrivzw - _____________________
aujtovn( answers): Pers Pron - Acc (Dir Obj) - M - P - aujtov", -hv, -ov - ________ 
Conjugate the following verbs according to the appropriate model (12 answers):
Imperfect - Indicative Forms of eijmiv(6 answers):

Person:
Singular
Plural









Imperfect  - Active - Indicative Forms of metadivdwmi(6 answers):

Person:
Singular
Plural








Decline the following nouns and noun derivatives according to the appropriate model:
The singular and plural forms of eujaggevlion, tov (8 answers):

Singular:

Plural:
Nom 

Gen/Abla

Dat/Ins/Loc

Acc

Adjective qeodivdakto", -on(16 answers):
Case:
Masculine

 

Neuter
Singular:
Nom


Gen/Abla

Dat/Ins/Loc

Acc

Plural:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Block diagram the above text according to the guidelines (25 answers):
  

              __________  

(1)
oJ Cristo;" ejdivdaske tw/' law/' _____________  _________ 



              ______________ 



     kai; 

(2)
oiJ maqhtai; _______  h\san 



                               _______ 



      kai; 

(3)
-- ------- ajkoh/' h[kouon ________  



                   o&ti oJ  jIhsou'" ____________  ____  



                                kai; 



                        oiJ lovgoi ________________  _______  



                                kai; 



                                             ____________   



                        oiJ maqhtai; ajnevtrefon ______ ______________ __________
 

(4)
aujto;" metedivdou _______  _____________________  



                                          th'" ajgavph" kai; eijrhvnh" 



         _____  ____________________   

(5)
th'n didach;n ________  ____________________  



     kai; 

(6)
--- ------- eijshvkouon 



            di j aujtou;" eujparevdrou" tw/' qew/' ei\nai. 



     _______

(7)
to; presbutevrion _________  _________ 



     kai; 

(8)
hjkmukthvrizon ___________. 
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